

ON CERTAIN TRANSFORMATIONS FOR MOCK THETA FUNCTIONS

Harwinder Kaur¹, A. K. Shrivastav²

^{1,2}Department of Mathematics RIMT University, Mandi Gobindgarh Fathegarh Sahib, Punjab (India).

E-mail:harwinderkaur808@gmail.com¹, aakkaasshkumar8888@gmail.com²

Received: April 2020 Revised and Accepted: June 2020

ABSTRACT: In this paper the various relation and transformations for mock theta function and infinite product analogues to the identities of ramanujan, established using well known identities.

KEYWORDS: mock theta function, partial mock theta function, infinite products, ramanujan identities.

A.M.S. Subject Classification: 11B65, 33D15

I. INTRODUCTION

Ramanujan listed seventeen mock theta functions and marked them as third, fifth and seventh orders without classification. Mock is a function $f(q)$ of the complex variable q , represented by a q -series of a special type; Ramanujan calls this the Eulerian type that converges to and satisfies the following rules;

1. Exponential singularities are infinitely many roots of unity
2. or each unity root ξ there is a θ -function $\theta_\xi(q)$ so that the difference $f(q) - \theta_\xi(q)$ is radially bounded as $q \rightarrow \xi$.
3. f is not the sum of two functions, one of which is a θ -function and the other a function bounded in all unity roots.

Watson [23], Andrews [3] introduces a study of these sums and expansions. Subsequently,Choi. [7] Defined certain q -series in the Lost Notebook and named them as Sixth, eighth and tenth order mock theta functions. Although Gordon and Mc Intosh [9] defined the order of mock theta functions, and later Bringmann and Ono [5, 6] described the order of the mock theta functions. Also, relationship involving mock theta functions and partial mock theta functions are given by srivastava [20]. Srivastava, B[21] providing relationship comparing mock theta functions and partial mock theta functions of order 3,5,6 and 10 and relationship comparing mock theta functions, partial mock theta functions of order 2,3 and 6 and Ramanujan’s function $\mu(q)$.

II. DEFINITION AND NOTATION

Mock theta functions of Ramanujan have also been confusing and interesting mathematicians for centuries. Using mock Mock theta functions of order tenth, their partial sums and infinite products in the renowned Srivastava identity [12] to acquire different relationships relating mock theta functions of order 10. Ramanujan (1988,p.9)[2] described in his lost notebook four order 10 Mock theta functions , and indicated some of their relationships ,

$$(2.1) \quad \varphi_T(q) = \sum_{n=0}^{\infty} \frac{q^{\frac{n(n+1)}{2}}}{(q; q^2)_{n+1}}$$

$$(2.2) \quad \psi_T(q) = \sum_{n=0}^{\infty} \frac{q^{\frac{(n+1)(n+2)}{2}}}{(q; q^2)_{n+1}}$$

$$(2.3) \quad X_T(q) = \sum_{n=0}^{\infty} \frac{(-1)^n q^{n^2}}{(-q; q)_{2n}}$$

$$(2.4) \quad \chi_T(q) = \sum_{n=0}^{\infty} \frac{(-1)^n q^{(n+1)^2}}{(-q; q)_{2n+1}}$$

The renowned identities of Rogers-Ramanujan ([14], [17], [18], pp.214-215) are

$$(2.5) \quad G(q) = \sum_{n=0}^{\infty} \frac{q^{n^2}}{(q; q)_n} = \frac{1}{(q; q^5)_{\infty} (q^4; q^5)_{\infty}}$$

$$(2.6) \quad H(q) = \sum_{n=0}^{\infty} \frac{q^{n(n+1)}}{(q; q)_n} = \frac{1}{(q^2; q^5)_{\infty} (q^3; q^5)_{\infty}}$$

Where $G(q)$ and $H(q)$ are called Rogers-Ramanujan functions.

Two identities comparable to (1) and (2) are the identities of the so-called Gollnitz-Gordon identities [9], given by

$$(2.7) \quad S(q) = \sum_{n=0}^{\infty} \frac{(-q; q^2)_n}{(q^2; q^2)_n} q^{n^2} = \frac{1}{(q; q^8)_{\infty} (q^4; q^8)_{\infty} (q^7; q^8)_{\infty}}$$

$$(2.8) \quad T(q) = \sum_{n=0}^{\infty} \frac{(-q; q^2)_n}{(q^2; q^2)_n} q^{n^2+2n} = \frac{1}{(q^3; q^8)_{\infty} (q^4; q^8)_{\infty} (q^5; q^8)_{\infty}}$$

$S(q), T(q)$ are known as the Gollnitz-Gordon functions.

The following two analog Rogers – Ramanujan functions are also described in [19]

$$(2.9) \quad X(q) = \sum_{n=0}^{\infty} \frac{(-q^2; q^2)_n (1-q^{n+1}) q^{n(n+2)}}{(q; q)_{2n+2}} = \frac{(q; q^{12})_{\infty} (q^{11}; q^{12})_{\infty} (q^{12}; q^{12})_{\infty}}{(q; q)_{\infty}}$$

$$(2.10) \quad Y(q) = \sum_{n=0}^{\infty} \frac{(-q^2; q^2)_{n-1} (1+q^n) q^{n^2}}{(q; q)_{2n}} = \frac{(q^5; q^{12})_{\infty} (q^7; q^{12})_{\infty} (q^{12}; q^{12})_{\infty}}{(q; q)_{\infty}}$$

III. MAIN RESULTS

$$(3.1) \quad \sum_{r=0}^{\infty} \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q; q^2)_{r+2}} G_m(q) = \varphi_T(q) \frac{1}{(q; q^5)_{\infty} (q^4; q^5)_{\infty}} - \sum_{m=0}^{\infty} \frac{q^{m^2}}{(q; q)_m} \varphi_{Tm}(q)$$

$$(3.2) \quad \sum_{r=0}^{\infty} \frac{q^{\frac{r}{2}}}{(q; q^2)_{r+2}} G_m(q) = \psi_T(q) \frac{1}{(q; q^5)_{\infty} (q^4; q^5)_{\infty}} - \sum_{m=0}^{\infty} \frac{q^{m^2}}{(q; q)_m} \psi_{Tm}(q)$$

$$(3.3) \quad \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{\frac{(r+1)^2}{2}}}{(-q; q)_{2(r+1)}} G_m(q) = X_T(q) \frac{1}{(q; q^5)_{\infty} (q^4; q^5)_{\infty}} - \sum_{m=0}^{\infty} \frac{q^{m^2}}{(q; q)_m} X_{Tm}(q)$$

$$(3.4) \quad \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{\frac{(r+2)^2}{2}}}{(-q; q)_{2r+3}} G_m(q) = \chi_T(q) \frac{1}{(q; q^5)_{\infty} (q^4; q^5)_{\infty}} - \sum_{m=0}^{\infty} \frac{q^{m^2}}{(q; q)_m} \chi_{Tm}(q)$$

$$(3.5) \quad \sum_{r=0}^{\infty} \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q; q^2)_{r+2}} H_m(q) = \varphi_T(q) \frac{1}{(q^2; q^5)_{\infty} (q^3; q^5)_{\infty}} - \sum_{m=0}^{\infty} \frac{q^{m(m+1)}}{(q; q)_m} \varphi_{Tm}(q)$$

$$(3.6) \quad \sum_{r=0}^{\infty} \frac{q^{\frac{r}{2}}}{(q; q^2)_{r+2}} H_m(q) = \psi_T(q) \frac{1}{(q^2; q^5)_{\infty} (q^3; q^5)_{\infty}} - \sum_{m=0}^{\infty} \frac{q^{m(m+1)}}{(q; q)_m} \psi_{Tm}(q)$$

$$(3.7) \quad \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{\frac{(r+1)^2}{2}}}{(-q; q)_{2(r+1)}} H_m(q) = X_T(q) \frac{1}{(q^2; q^5)_{\infty} (q^3; q^5)_{\infty}} - \sum_{m=0}^{\infty} \frac{q^{m(m+1)}}{(q; q)_m} X_{Tm}(q)$$

$$(3.8) \quad \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{\frac{(r+2)^2}{2}}}{(-q; q)_{2r+3}} H_m(q) = \chi_T(q) \frac{1}{(q^2; q^5)_{\infty} (q^3; q^5)_{\infty}} - \sum_{m=0}^{\infty} \frac{q^{m(m+1)}}{(q; q)_m} \chi_{Tm}(q)$$

$$(3.9) \quad \sum_{r=0}^{\infty} \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q; q^2)_{r+2}} S_m(q) = \varphi_T(q) \frac{1}{(q; q^8)_{\infty} (q^4; q^8)_{\infty} (q^7; q^8)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q; q^2)_m}{(q^2; q^2)_m} q^{m^2} \varphi_{Tm}(q)$$

$$(3.10) \quad \sum_{r=0}^{\infty} \frac{q^{\frac{r}{2}}}{(q; q^2)_{r+2}} S_m(q) = \psi_T(q) \frac{1}{(q; q^8)_{\infty} (q^4; q^8)_{\infty} (q^7; q^8)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q; q^2)_m}{(q^2; q^2)_m} q^{m^2} \psi_{Tm}(q)$$

$$(3.11) \quad \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{\frac{(r+1)^2}{2}}}{(-q; q)_{2(r+1)}} S_m(q) = X_T(q) \frac{1}{(q; q^8)_{\infty} (q^4; q^8)_{\infty} (q^7; q^8)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q; q^2)_m}{(q^2; q^2)_m} q^{m^2} X_{Tm}(q)$$

$$(3.12) \quad \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{\frac{(r+2)^2}{2}}}{(-q; q)_{2r+3}} S_m(q) = \chi_T(q) \frac{1}{(q; q^8)_{\infty} (q^4; q^8)_{\infty} (q^7; q^8)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q; q^2)_m}{(q^2; q^2)_m} q^{m^2} \chi_{Tm}(q)$$

$$(3.13) \quad \sum_{r=0}^{\infty} \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q; q^2)_{r+2}} T_m(q) = \varphi_T(q) \frac{1}{(q^3; q^8)_{\infty} (q^4; q^8)_{\infty} (q^5; q^8)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q; q^2)_m}{(q^2; q^2)_m} q^{m^2+2m} \varphi_{Tm}(q)$$

$$(3.14) \quad \sum_{r=0}^{\infty} \frac{q^{\frac{r}{2}}}{(q; q^2)_{r+2}} T_m(q) = \psi_T(q) \frac{1}{(q^3; q^8)_{\infty} (q^4; q^8)_{\infty} (q^5; q^8)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q; q^2)_m}{(q^2; q^2)_m} q^{m^2+2m} \psi_{Tm}(q)$$

$$(3.15) \quad \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{\frac{(r+1)^2}{2}}}{(-q; q)_{2(r+1)}} T_m(q) = X_T(q) \frac{1}{(q^3; q^8)_{\infty} (q^4; q^8)_{\infty} (q^5; q^8)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q; q^2)_m}{(q^2; q^2)_m} q^{m^2+2m} X_{Tm}(q)$$

$$(3.16) \quad \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{\frac{(r+2)^2}{2}}}{(-q; q)_{2r+3}} T_m(q) = \chi_T(q) \frac{1}{(q^3; q^8)_{\infty} (q^4; q^8)_{\infty} (q^5; q^8)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q; q^2)_m}{(q^2; q^2)_m} q^{m^2+2m} \chi_{Tm}(q)$$

$$(3.17) \quad \sum_{r=0}^{\infty} \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q; q^2)_{r+2}} X_m(q) = \varphi_T(q) \frac{(q; q^{12})_{\infty} (q^{11}; q^{12})_{\infty} (q^{12}; q^{12})_{\infty}}{(q; q)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q^2; q^2)_m (1-q^{n+1}) q^{m(m+2)}}{(q; q)_{2m+2}} \varphi_{Tm}(q)$$

$$(3.18) \quad \sum_{r=0}^{\infty} \frac{q^{\frac{(r+2)(r+3)}{2}}}{(q; q^2)_{r+2}} X_m(q) = \psi_T(q) \frac{(q; q^{12})_{\infty} (q^{11}; q^{12})_{\infty} (q^{12}; q^{12})_{\infty}}{(q; q)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q^2; q^2)_m (1-q^{n+1}) q^{m(m+2)}}{(q; q)_{2m+2}} \psi_{Tm}(q)$$

$$(3.19) \quad \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{\frac{(r+1)^2}{2}}}{(-q; q)_{2(r+1)}} X_m(q)$$

$$= X_T(q) \frac{(q; q^{12})_\infty (q^{11}; q^{12})_\infty (q^{12}; q^{12})_\infty}{(q; q)_\infty} - \sum_{m=0}^\infty \frac{(-q^2; q^2)_m (1-q^{n+1}) q^{m(m+2)}}{(q; q)_{2m+2}} X_{Tm}(q)$$

$$(3.20) \sum_{r=0}^\infty \frac{(-1)^{r+1} q^{(r+2)^2}}{(-q; q)_{2r+3}} X_m(q)$$

$$= \chi_T(q) \frac{(q; q^{12})_\infty (q^{11}; q^{12})_\infty (q^{12}; q^{12})_\infty}{(q; q)_\infty} - \sum_{m=0}^\infty \frac{(-q^2; q^2)_m (1-q^{n+1}) q^{m(m+2)}}{(q; q)_{2m+2}} \chi_{Tm}(q)$$

$$(3.21) \sum_{r=0}^\infty \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q; q^2)_{r+2}} Y_m(q)$$

$$= \varphi_T(q) \frac{(q^5; q^{12})_\infty (q^7; q^{12})_\infty (q^{12}; q^{12})_\infty}{(q; q)_\infty} - \sum_{m=0}^\infty \frac{(-q^2; q^2)_{m-1} (1+q^m) q^{m^2}}{(q; q)_{2m}} \varphi_{Tm}(q)$$

$$(3.22) \sum_{r=0}^\infty \frac{q^{\frac{(r+2)(r+3)}{2}}}{(q; q^2)_{r+2}} Y_m(q)$$

$$= \psi_T(q) \frac{(q^5; q^{12})_\infty (q^7; q^{12})_\infty (q^{12}; q^{12})_\infty}{(q; q)_\infty} - \sum_{m=0}^\infty \frac{(-q^2; q^2)_{m-1} (1+q^m) q^{m^2}}{(q; q)_{2m}} \psi_{Tm}(q)$$

$$(3.23) \sum_{r=0}^\infty \frac{(-1)^{r+1} q^{(r+1)^2}}{(-q; q)_{2(r+1)}} Y_m(q)$$

$$= X_T(q) \frac{(q^5; q^{12})_\infty (q^7; q^{12})_\infty (q^{12}; q^{12})_\infty}{(q; q)_\infty} - \sum_{m=0}^\infty \frac{(-q^2; q^2)_{m-1} (1+q^m) q^{m^2}}{(q; q)_{2m}} X_{Tm}(q)$$

$$(3.24) \sum_{r=0}^\infty \frac{(-1)^{r+1} q^{(r+2)^2}}{(-q; q)_{2r+3}} Y_m(q)$$

$$= \chi_T(q) \frac{(q^5; q^{12})_\infty (q^7; q^{12})_\infty (q^{12}; q^{12})_\infty}{(q; q)_\infty} - \sum_{m=0}^\infty \frac{(-q^2; q^2)_{m-1} (1+q^m) q^{m^2}}{(q; q)_{2m}} \chi_{Tm}(q)$$

IV. PROOFS OF MAIN RESULTS

We will use the following renowned identity [9]

$$(4.1) \sum_{m=0}^\infty \delta_m \sum_{r=0}^m \alpha_r = (\sum_{r=0}^\infty \alpha_r) (\sum_{m=0}^\infty \delta_m) - \sum_{r=0}^\infty \alpha_{r+1} \sum_{m=0}^r \delta_m$$

By Taking $\delta_r = \frac{q^{r^2}}{(q; q)_r}$, $\alpha_r = \frac{q^{\frac{r(r+1)}{2}}}{(q; q^2)_{r+1}}$ in (4.1) and making use of (2.1), then after summing, we get

$$(4.2) \sum_{r=0}^\infty \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q; q^2)_{r+2}} G_m(q) = \varphi_T(q) \frac{1}{(q; q^5)_\infty (q^4; q^5)_\infty} - \sum_{m=0}^\infty \frac{q^{m^2}}{(q; q)_m} \varphi_{Tm}(q)$$

By taking $\delta_r = \frac{q^{r^2}}{(q; q)_r}$, $\alpha_r = \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q; q^2)_{r+1}}$ in (4.1) and making use of (2.2), then after summing, we get

$$(4.3) \sum_{r=0}^\infty \frac{q^{\frac{(r+2)(r+3)}{2}}}{(q; q^2)_{r+2}} G_m(q) = \psi_T(q) \frac{1}{(q; q^5)_\infty (q^4; q^5)_\infty} - \sum_{m=0}^\infty \frac{q^{m^2}}{(q; q)_m} \psi_{Tm}(q)$$

By taking $\delta_r = \frac{q^{r^2}}{(q; q)_r}$, $\alpha_r = \frac{(-1)^r q^{r^2}}{(-q; q)_{2r}}$ in (4.1) and making use of (2.3), then after summing, we get

$$(4.4) \sum_{r=0}^\infty \frac{(-1)^{r+1} q^{(r+1)^2}}{(-q; q)_{2(r+1)}} G_m(q) = X_T(q) \frac{1}{(q; q^5)_\infty (q^4; q^5)_\infty} - \sum_{m=0}^\infty \frac{q^{m^2}}{(q; q)_m} X_{Tm}(q)$$

By taking $\delta_r = \frac{q^{r^2}}{(q; q)_r}$, $\alpha_r = \frac{(-1)^r q^{(r+1)^2}}{(-q; q)_{2r+1}}$ in (4.1) and making use of (2.4), then after summing, we get

$$(4.5) \sum_{r=0}^\infty \frac{(-1)^{r+1} q^{(r+2)^2}}{(-q; q)_{2r+3}} G_m(q) = \chi_T(q) \frac{1}{(q; q^5)_\infty (q^4; q^5)_\infty} - \sum_{m=0}^\infty \frac{q^{m^2}}{(q; q)_m} \chi_{Tm}(q)$$

By taking $\delta_r = \frac{q^{r(r+1)}}{(q; q)_r}$, $\alpha_r = \frac{q^{\frac{r(r+1)}{2}}}{(q; q^2)_{r+1}}$ in (4.1) and making use of (2.1), then after summing, we get

$$(4.6) \sum_{r=0}^\infty \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q; q^2)_{r+2}} H_m(q) = \varphi_T(q) \frac{1}{(q^2; q^5)_\infty (q^3; q^5)_\infty} - \sum_{m=0}^\infty \frac{q^{m(m+1)}}{(q; q)_m} \varphi_{Tm}(q)$$

By taking $\delta_r = \frac{q^{r(r+1)}}{(q; q)_r}$, $\alpha_r = \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q; q^2)_{r+1}}$ in (4.1) and making use of (2.2), then after summing, we get

$$(4.7) \sum_{r=0}^\infty \frac{q^{\frac{(r+2)(r+3)}{2}}}{(q; q^2)_{r+2}} H_m(q) = \psi_T(q) \frac{1}{(q^2; q^5)_\infty (q^3; q^5)_\infty} - \sum_{m=0}^\infty \frac{q^{m(m+1)}}{(q; q)_m} \psi_{Tm}(q)$$

By taking $\delta_r = \frac{q^{r(r+1)}}{(q; q)_r}$, $\alpha_r = \frac{(-1)^r q^{r^2}}{(-q; q)_{2r}}$ in (4.1) and making use of (2.3), then after summing, we get

$$(4.8) \sum_{r=0}^\infty \frac{(-1)^{r+1} q^{(r+1)^2}}{(-q; q)_{2(r+1)}} H_m(q) = X_T(q) \frac{1}{(q^2; q^5)_\infty (q^3; q^5)_\infty} - \sum_{m=0}^\infty \frac{q^{m(m+1)}}{(q; q)_m} X_{Tm}(q)$$

By taking $\delta_r = \frac{q^{r(r+1)}}{(q;q)_r}$, $\alpha_r = \frac{(-1)^r q^{(r+1)^2}}{(-q;q)_{2r+1}}$ in (4.1) and making use of (2.4), then after summing, we get

$$(4.9) \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{(r+2)^2}}{(-q;q)_{2r+3}} H_m(q) = \chi_T(q) \frac{1}{(q^2;q^5)_{\infty}(q^3;q^5)_{\infty}} - \sum_{m=0}^{\infty} \frac{q^{m(m+1)}}{(q;q)_m} \chi_{Tm}(q)$$

By taking $\delta_r = \frac{(-q;q^2)_r}{(q^2;q^2)_r} q^{r^2}$, $\alpha_r = \frac{q^{\frac{r(r+1)}{2}}}{(q;q)_{r+1}}$ in (4.1) and making use of (2.1), then after summing, we get

$$(4.10) \sum_{r=0}^{\infty} \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q;q^2)_{r+2}} S_m(q) = \varphi_T(q) \frac{1}{(q;q^8)_{\infty}(q^4;q^8)_{\infty}(q^7;q^8)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q;q^2)_m}{(q^2;q^2)_m} q^{m^2} \varphi_{Tm}(q)$$

By taking $\delta_r = \frac{(-q;q^2)_r}{(q^2;q^2)_r} q^{r^2}$, $\alpha_r = \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q;q^2)_{r+1}}$ in (4.1) and making use of (2.2), then after summing, we get

$$(4.11) \sum_{r=0}^{\infty} \frac{q^{\frac{(r+2)(r+3)}{2}}}{(q;q^2)_{r+2}} S_m(q) = \psi_T(q) \frac{1}{(q;q^8)_{\infty}(q^4;q^8)_{\infty}(q^7;q^8)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q;q^2)_m}{(q^2;q^2)_m} q^{m^2} \psi_{Tm}(q)$$

By taking $\delta_r = \frac{(-q;q^2)_r}{(q^2;q^2)_r} q^{r^2}$, $\alpha_r = \frac{(-1)^r q^{r^2}}{(-q;q)_{2r}}$ in (4.1) and making use of (2.3), then after summing, we get

$$(4.12) \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{(r+1)^2}}{(-q;q)_{2(r+1)}} S_m(q) = X_T(q) \frac{1}{(q;q^8)_{\infty}(q^4;q^8)_{\infty}(q^7;q^8)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q;q^2)_m}{(q^2;q^2)_m} q^{m^2} X_{Tm}(q)$$

By taking $\delta_r = \frac{(-q;q^2)_r}{(q^2;q^2)_r} q^{r^2}$, $\alpha_r = \frac{(-1)^r q^{(r+1)^2}}{(-q;q)_{2r+1}}$ in (4.1) and making use of (2.4), then after summing, we get

$$(4.13) \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{(r+2)^2}}{(-q;q)_{2r+3}} S_m(q) = \chi_T(q) \frac{1}{(q;q^8)_{\infty}(q^4;q^8)_{\infty}(q^7;q^8)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q;q^2)_m}{(q^2;q^2)_m} q^{m^2} \chi_{Tm}(q)$$

By taking $\delta_r = \frac{(-q;q^2)_r}{(q^2;q^2)_r} q^{r^2+2r}$, $\alpha_r = \frac{q^{\frac{r(r+1)}{2}}}{(q;q^2)_{r+1}}$ in (4.1) and making use of (2.1), then after summing, we get

$$(4.14) \sum_{r=0}^{\infty} \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q;q^2)_{r+2}} T_m(q) = \varphi_T(q) \frac{1}{(q^3;q^8)_{\infty}(q^4;q^8)_{\infty}(q^5;q^8)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q;q^2)_m}{(q^2;q^2)_m} q^{m^2+2m} \varphi_{Tm}(q)$$

By taking $\delta_r = \frac{(-q;q^2)_r}{(q^2;q^2)_r} q^{r^2+2r}$, $\alpha_r = \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q;q^2)_{r+1}}$ in (4.1) and making use of (2.2), then after summing, we get

$$(4.15) \sum_{r=0}^{\infty} \frac{q^{\frac{(r+2)(r+3)}{2}}}{(q;q^2)_{r+2}} T_m(q) = \psi_T(q) \frac{1}{(q^3;q^8)_{\infty}(q^4;q^8)_{\infty}(q^5;q^8)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q;q^2)_m}{(q^2;q^2)_m} q^{m^2+2m} \psi_{Tm}(q)$$

3) By taking $\delta_r = \frac{(-q;q^2)_r}{(q^2;q^2)_r} q^{r^2+2r}$, $\alpha_r = \frac{(-1)^r q^{r^2}}{(-q;q)_{2r}}$ in (4.1) and making use of (2.3), then after summing, we get

$$(4.16) \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{(r+1)^2}}{(-q;q)_{2(r+1)}} T_m(q) = X_T(q) \frac{1}{(q^3;q^8)_{\infty}(q^4;q^8)_{\infty}(q^5;q^8)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q;q^2)_m}{(q^2;q^2)_m} q^{m^2+2m} X_{Tm}(q)$$

4) By taking $\delta_r = \frac{(-q;q^2)_r}{(q^2;q^2)_r} q^{r^2+2r}$, $\alpha_r = \frac{(-1)^r q^{(r+1)^2}}{(-q;q)_{2r+1}}$ in (4.1) and making use of (2.4), then after summing, we get

$$(4.17) \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{(r+2)^2}}{(-q;q)_{2r+3}} T_m(q) = \chi_T(q) \frac{1}{(q^3;q^8)_{\infty}(q^4;q^8)_{\infty}(q^5;q^8)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q;q^2)_m}{(q^2;q^2)_m} q^{m^2+2m} \chi_{Tm}(q)$$

By taking $\delta_r = \frac{(-q^2;q^2)_r (1-q^{n+1}) q^{r(r+2)}}{(q;q)_{2r+2}}$, $\alpha_r = \frac{q^{\frac{r(r+1)}{2}}}{(q;q^2)_{r+1}}$ in (4.1) and making use of (2.1), then after summing, we get

$$(4.18) \sum_{r=0}^{\infty} \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q;q^2)_{r+2}} X_m(q) = \varphi_T(q) \frac{(q;q^{12})_{\infty} (q^{11};q^{12})_{\infty} (q^{12};q^{12})_{\infty}}{(q;q)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q^2;q^2)_m (1-q^{n+1}) q^{m(m+2)}}{(q;q)_{2m+2}} \varphi_{Tm}(q)$$

By taking $\delta_r = \frac{(-q^2;q^2)_r (1-q^{n+1}) q^{r(r+2)}}{(q;q)_{2r+2}}$, $\alpha_r = \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q;q^2)_{r+1}}$ in (4.1) and making use of (2.2), then after summing, we get

$$(4.19) \sum_{r=0}^{\infty} \frac{q^{\frac{(r+2)(r+3)}{2}}}{(q;q^2)_{r+2}} X_m(q) = \psi_T(q) \frac{(q;q^{12})_{\infty} (q^{11};q^{12})_{\infty} (q^{12};q^{12})_{\infty}}{(q;q)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q^2;q^2)_m (1-q^{n+1}) q^{m(m+2)}}{(q;q)_{2m+2}} \psi_{Tm}(q)$$

By taking $\delta_r = \frac{(-q^2;q^2)_r (1-q^{n+1}) q^{r(r+2)}}{(q;q)_{2r+2}}$, $\alpha_r = \frac{(-1)^r q^{r^2}}{(-q;q)_{2r}}$ in (4.1) and making use of (2.3), then after summing, we get

$$(4.20) \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{(r+1)^2}}{(-q;q)_{2(r+1)}} X_m(q) = X_T(q) \frac{(q;q^{12})_{\infty} (q^{11};q^{12})_{\infty} (q^{12};q^{12})_{\infty}}{(q;q)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q^2;q^2)_m (1-q^{n+1}) q^{m(m+2)}}{(q;q)_{2m+2}} X_{Tm}(q)$$

By taking $\delta_r = \frac{(-q^2; q^2)_r (1-q^{n+1})q^{r(r+2)}}{(q; q)_{2r+2}}$, $\alpha_r = \frac{(-1)^r q^{(r+1)^2}}{(-q; q)_{2r+1}}$ in (4.1) and making use of (2.4), then after summing, we get

$$(4.21) \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{(r+2)^2}}{(-q; q)_{2r+3}} X_m(q) = \chi_T(q) \frac{(q; q^{12})_{\infty} (q^{11}; q^{12})_{\infty} (q^{12}; q^{12})_{\infty}}{(q; q)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q^2; q^2)_m (1-q^{n+1})q^{m(m+2)}}{(q; q)_{2m+2}} \chi_{Tm}(q)$$

By taking $\delta_r = \frac{(-q^2; q^2)_{r-1} (1+q^r)q^{r^2}}{(q; q)_{2r}}$, $\alpha_r = \frac{q^{\frac{r(r+1)}{2}}}{(q; q^2)_{r+1}}$ in (4.1) and making use of (2.1), then after summing, we get

$$(4.22) \sum_{r=0}^{\infty} \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q; q^2)_{r+2}} Y_m(q) = \varphi_T(q) \frac{(q^5; q^{12})_{\infty} (q^7; q^{12})_{\infty} (q^{12}; q^{12})_{\infty}}{(q; q)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q^2; q^2)_{m-1} (1+q^m)q^{m^2}}{(q; q)_{2m}} \varphi_{Tm}(q)$$

By taking $\delta_r = \frac{(-q^2; q^2)_{r-1} (1+q^r)q^{r^2}}{(q; q)_{2r}}$, $\alpha_r = \frac{q^{\frac{(r+1)(r+2)}{2}}}{(q; q^2)_{r+1}}$ in (4.1) and making use of (2.2), then after summing, we get

$$(4.23) \sum_{r=0}^{\infty} \frac{q^{\frac{(r+2)(r+3)}{2}}}{(q; q^2)_{r+2}} Y_m(q) = \psi_T(q) \frac{(q^5; q^{12})_{\infty} (q^7; q^{12})_{\infty} (q^{12}; q^{12})_{\infty}}{(q; q)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q^2; q^2)_{m-1} (1+q^m)q^{m^2}}{(q; q)_{2m}} \psi_{Tm}(q)$$

By taking $\delta_r = \frac{(-q^2; q^2)_{r-1} (1+q^r)q^{r^2}}{(q; q)_{2r}}$, $\alpha_r = \frac{(-1)^r q^{r^2}}{(-q; q)_{2r}}$ in (4.1) and making use of (2.3), then after summing, we get

$$(4.24) \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{(r+1)^2}}{(-q; q)_{2(r+1)}} Y_m(q) = X_T(q) \frac{(q^5; q^{12})_{\infty} (q^7; q^{12})_{\infty} (q^{12}; q^{12})_{\infty}}{(q; q)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q^2; q^2)_{m-1} (1+q^m)q^{m^2}}{(q; q)_{2m}} X_{Tm}(q)$$

By taking $\delta_r = \frac{(-q^2; q^2)_{r-1} (1+q^r)q^{r^2}}{(q; q)_{2r}}$, $\alpha_r = \frac{(-1)^r q^{(r+1)^2}}{(-q; q)_{2r+1}}$ in (4.1) and making use of (2.4), then after summing, we get

$$(4.25) \sum_{r=0}^{\infty} \frac{(-1)^{r+1} q^{(r+2)^2}}{(-q; q)_{2r+3}} Y_m(q) = \chi_T(q) \frac{(q^5; q^{12})_{\infty} (q^7; q^{12})_{\infty} (q^{12}; q^{12})_{\infty}}{(q; q)_{\infty}} - \sum_{m=0}^{\infty} \frac{(-q^2; q^2)_{m-1} (1+q^m)q^{m^2}}{(q; q)_{2m}} \chi_{Tm}(q)$$

IV. REFERENCE

- [1]. Agarwal, R. P. (1969), *Certain basic hypergeometric identities associated with mock theta functions*, Quart. Jour. Math. 20,121-128.
- [2]. Andrews, G. E. (1974), *Applications of basic hypergeometric functions*, SIAM Review 16(4), 441- 484.
- [3]. Andrews, G. E. (1981), *Ramanujan’s lost notebook-I: Partial (-) functions*, Adv. Math., 41,137-170.
- [4]. Andrews, G. E. and Hickerson, D. (1991), *Ramanujan’s lost notebook-III: The Sixth order mock theta functions*, Adv. Math., 89, 60-105.
- [5]. Bringmann, K., Ono, K. (2007), *Lifting elliptic cups forms to mass form with an application to partitions*, Proc. Math. Acad. Sci. (USA) 104, 3725.
- [6]. Bringmann, K. & Ono, K. (2006), *The f(q) mock theta functions conjecture and partition ranks*, Invent. Math., 165-243.
- [7]. Choi, Y. S. (1999), *Tenth order mock theta functions in Ramanujan’s lost notebook*, Invent. Math., 136, 497-596.
- [8]. Denis, R.Y., Singh, S. N. and Singh, S. P. (2006), *On certain relation connecting mock theta functions*, Italian Jour. Pure & Appl. Math., 19, 55-60.
- [9]. Gordon. Band Mc Intosh, R. J. (2000), *Some eighth order mock theta functions*, Jour. London Math. Soc., 62, 321-335.
- [10]. Gordon. B, Mcintosh, R. J. (2003), *Modular transformations of Ramanujan’s fifth and seventh order mock theta functions*, Ramanujan Journal, 7, 193.
- [11]. Gollnitz, H. (1967), *Partitionen mit Differenzenbedingungen*, Journal of Reine Angew. Math. 225154-190.
- [12]. Hahn, H. (2003), *Septic Analogues of the Rogers-Ramanujan Functions*, Acta Arith. 110 381-399.
- [13]. Rogers, L. J. (1894), *Second memoir on the expansion of certain infinite products*, Proc. London Math. Soc. 25318-343.
- [14]. Ramanujan, S. (1962), *Collected Papera (ed.G.H.Hardy)*, Cambridge University Press, 1927, Reprinted by Chelsea, New York ,
- [15]. Ramanujan, S. (1988), *The ‘Lost’ Notebook and unpublished papers*, Narosa Publ. House, New Delhi, 1988.

- [16]. Ramanujan. S. (1919), *Proof of certain identities in combinatory analysis*, Proc. Cambridge Philos. Soc. 19, 214-216.
- [17]. Ramanujan. S. (2000), *Collected Papers*, Cambridge University Press, Cambridge, 1927; reprinted by Chelsea, New York, 1962; reprinted by the American Mathematical Society, Providence, RI,.
- [18]. Slater, L. J. (1952), *Further identities of the Rogers Ramanujan type*, Proc. London Math. Soc. (2)54,147-167.
- [19]. Srivastava, A. K.(1997), *On partial sums of mock theta functions of order three*, Proc. Indian Aca. Sci. (Math. Sci.), 107(1), 1-12.
- [20]. Srivastava, B. (2005), *Ramanujan's mock theta function*, Math. J. Okayama Univ. 47(1), 163-174.
- [21]. Srivastava, B. (2007), *Mock theta functions and Theta functions*, New Zealand J. Math. 36, 287-294
- [22]. Srivastava, B. (2012), *A study of Bilateral new Mock theta functions*, American Journal of Mathematics and Statistics, 2(4), 64-69.
- [23]. Watson, G. N. (1936), *The final problem: an account of the mock theta functions*, Jour. London Math. Soc., 11, 55-80.

AUTHORS PROFILE



Harwinder Kaur
 (Research Scholar)
 Department of
 Mathematics, School
 of Basic and
 Applied Sciences,
 RIMT University
 Mandi Govindgarh,
 Fatehgarh Sahib,
 Punjab (India)



Dr. A. K. Shrivastav, Asstt.
 Professor
 Department of
 Mathematics, School
 of Basic and Applied
 Sciences, RIMT
 University Mandi
 Govindgarh,
 Fatehgarh Sahib,
 Punjab (India)